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((EPT, MSRT, MHLE, UTEPT, TOLIMO, cuilsg & ljs, -..)

5l ad,le oy JUSl .(Fast Grammar ¥ i) g ooliwl Jxd sole IS 5 cunl o9 Jledl 5oy ()

can, could, will, would, may, might, shall, should, ought to, must, have to, has to, had to

You must/could explain thereason. — You must/could explains/explained ...
ey Jb el S

«5,5 lolg» make «yols o5l let thad better ('d better) .would rather ("d rather) jluox ©
((Fast Grammar Vo iz) deu ookl Jad sols o 5l sl oo (does, did) do-  SeS J=b 4

| made him go. Dgy p,S ilolg

You had better ('d better) leave now. Gop Y il s
Ex. The heavy rain this morning has made me ............... in my room instead of going to the
library. (@3S o) EPT cygej])
1) to stay 2) staying 3) stay 4) stayed

Wl V¥ 8y 58 raly oyl plis -390 03Ul S 530 JSib 1 gtamly (0T ciliien JISET 9) 003 S lslgs make ;1 sny

rpilor 81 1> GLuLS 4 i) Sl 45 23,5 Jpazma |ro guasd 9 pol 3y3b Oy tasiz 5
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:(Fast Grammar obs Ve i) Cewl J28 loiNg IS0 e a8 S0 g5 aslol gy den 5lamy (Y

after, before, in, on, by, from, of, with(out), like, besides, except, despite, in spite of,
because of, due to, according to, ...

before g@, after g@..., except M@.., — except \%h

Ex. It is common to think of ...................... as something that takes place in school.

(A) learn (B) learning (C) to learn (D) have learning  (ai#ss ) UTEPT cygoff)

ol B 4y 38 ranly oy ooty cCamel J23 )15iNE JSib cqrumao Shod JSuib Leis [OF Lowiyl] 6Ll o9 5> 51 s
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Itis [ important patient. —» ... important %ﬂg

-

Ex. We were all surprised ............... so soon after his car accident. (i3S Jlg3) EPT cygoj])
1) being seen John walking 2) to have seen John to walk
3) to see John walking 4) seeing John to have walked

ol W 25 58 Gl el ol 5 9id 23l 1O b ) suas jI gl [surprised beul] o jl ey

(2392 i 39 150 0Ly 395 135yl IS 35y Louls 1 3 Ol Syl 1 o dods stz 5
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:(Fast Grammar obs 1o i) Cowl 10 L jdian qroro  dxd JSG L 55100 g enough 1 as (F

She’s old to decide \for herself. — ... old enough de%ng

tOLg)m

to L youme 5l ol 5l am 9 0,05 oo )8 08 5 o 5l aw &S Cuwl sou8 s enough &S oS cds o

{(Fast Grammar )+ _is) 5S¢ o ool

Ex. Don’t pick these peaches until tomorrow so that they get ............. to eat. (aibiS )g) EPT ¢yl
1) more sweet 2) sweet enough 3) most sweet 4) as sweet

€359 oy pad 0395 (S0 (BB DIl 4 U a1 ,8 G 1) gla pb etz 5
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«(Fast Grammar )+ i) Sgus o 00laiwl TO ooy jaae 5L 91O L jouas 51 L «y0 5 SS» help 8 5l axs (0

Tom helped us todo/do thejob. — ... helpedus dojxg ...

S plo] b}fJUoﬁ&Jhg«rA’;»
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Mary went to the bank /[ toget some money.
tO L.))J..a.a

(w‘ 09y Jy UJ; u_i’l.’:b u..d) )‘ L_QM) b)‘dﬁ Jﬁ" (5)‘..).9.‘0 by uﬂ) g_i:l; d“.«(.SJA»

Ex. A fuel is a substance used ..................... light, heat, or energy. (atb3S o) MSRT cyg0j])
(A) generating (B) generates (C) to generate (D) itis generating

sl € &y 38 by el ol -3940 03Lisanl 10 b Jnacin 1 iamms IS Sy plowil i1 Bd Ol (51

by Tom. — ...was @x{e
A Aldgs €al» lawgy aol

The letter was

Ex. Course objectives occasionally .............cccceceeu..eee. . (ai3S Jlgs) EPT <igo)))
1) must modify 2) modified 3) have to be modified 4) ought to have modified

WSl 4 (s (s J23 1S 3232 3ploul (course objectives) b Jebb igeoro 9 poloo 4 bgs o OIS 4 4295 b
(elotlis padly s 1) Jsb pom Cuond g b (S5 Jad I JSS (b oeme sLasSle 3 o)l s (Jaeme

{(Fast Grammar oS |V jicu) Gl ¥ 455 gewly 3gd0 3, F 9 Vo) sladiy 55

.39 glhol b (DB Sjgel 595 Blrab iauiz 5
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:(Fast Grammar \+ i) S oolazwl (P.P.)

to school. — ... have \N(

lad ) djoe 4 ool Lyl

Ex. She had not .................... new dresses for the wedding party. (aTh3S o) EPT cyge)])
1) buy 2) bought 3) wish to buy 4) have bought

B Sz 5 (ol ol b a3litul Jo2b paw Cuowd jl suul [had Lxul] have SoS Job caliso JISET I a2y
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:(Fast Grammar ) i) Qb 10 b joas &jgay el o o8 o Jldl 5lae (4

decide, need, want, manage, offer, tend, incline, allow, tell, afford, expect, ask, warn,
agree, promise, pretend, refuse, force, deserve

Ex. We decided/ tobuy \anew car. 250 (SN0 Jurogi| 4 0xi8 5 ol
to l.g)o.m
Ex. The teacher warned Jim ............... at his friend’s exam paper. (ai3S J)g3) EPT cygaj])
1) don’t look 2) not look 3) not to look 4) not be looked

O Slol Job S o) 4y 8 Ol b 45 35S CE5 .98 00 a3l 1O U jsuas jlaw@sls laiay warn Jed jl sey

Sl ¥ 45 55 ey 2 3algs 5 )ly Cans O gu0

S5 olS ) iy (Sloiel & o 45 515 Ylaia e 4 el iauz ;5
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((Fast Grammar Ve i) Qbb (jouas ) J0ING & jgay ol (gom 28 (3 Jladl 5las (Ve

avoid, enjoy, involve, look forward to, imagine, deny, mind, suggest, be worth, finish,
delay, try, resist, keep, mention, practice, postpone

Ex. She avoided / meeting\ him. 0,5 oo ol ol b S
)M.a I'°"""‘
Ex. The course involved .................... three tests. (b3S o) EPT cypo)l)
1) writing 2) to write 3) wrote 4) write

20 0901 (pibgs Jolds b jgel 8930 1eutz G
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Sl Yo i) dmled axg5 5 OIS 4 (modal + have + p.p.) o5 Jlsdl 2505 Eonm 3y50 50 (V)

:(Fast Grammar

1358 o0 o3liinl 40088 DB | ilaie (S Al (sl «mUSt have + Jad g o 58151 O

199 oo ol
Somebody might have stolen your wallet when you were getting on the train.
el oagojo | cdgy @S cased lhd 4 ol lew Lo o NN

If we had arrived earlier, we would have caught our flight.

oy Olosls 4 pliedll o a0 5055 ST
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(il

| had a mechanic fix my car. A e SlSe SO pols ) piile

Julie got her son to take the medicine. ololy 9,10 50,55 arly by Jo
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«(Fast Grammar )+ o5 gl ice) 3,10 3525 pie &S0 90 (o> lawg ;o) (lWh) iy llS 5,90 0 (VY

. ‘ — ... where is><e.

| don’t know/ where
sy SlalS —> (Wh)

(when, where, how, whom, what, ...) B

- — We don’t know where g>iﬁg.
Ex. 1 don’t know when .................... . (a13S Jlgo) EPT cigofl)
1) has opened the library 2) the library be opened
3) the library opens 4) is the library open

Moz i i I giammb 3T 1 320 (3948 03lituwl o )lgdloz 93 Lol 5l (When Lxis)) s py SIS 1 45900 4>
Cll> 36900 3 F 9 ) SIS oS U3 L ((SoS) J=b 9 Jebb olbul> 4 (s (P 39 polil Cue
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Job 0835 ooy -1 oS i gl =V ool Jl> ey =V il e 0l slagigasl 1o s slagle; OVF

pow o Jels lam ol Jlbo ley 10 a5 0 uS axgi <—

JoU[ > oy Jge,8:| Jelé + have/ has + p.p. g ooLm;l (smls 8 5h a5l

Ex. John has not traveled to Spain yet. Ex. John plays tennis every day.

e cslasg s since + b Toe

for + by &awe Job | | yet

:o).é.o ua.x..u pgw LgLan.cl.é(—

ol 82335 le; Jge,8{ Jels + had + p.p.

gy ) eole 22535 Lo ol ey Yoo | had eaten dinner when Jim came.

when, after, before, because (since) slvoansly, ol jonas

wodaw; LL A g 0al g4, LS [0 ere Sy o oS les 4y oglil gl ool &nd5 ey 5l O

| finished the project last week/ 5 days ago. 109 oo odlaul

In two years’ time, | will have graduated from university. S o o0l sy o
Ex. My father .................... me finish my homework assignment before | went to the movies.
1) was making 2) should make  3) had made 4) would have made  (aiiiS JJgo) EPT cygej])

L sl e before 399 598 o0 by po ,S3S5 L (WeNt) aslw 43S 5 JolS @ddS o) 5008 4 s ol
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S D 5 F slagicn) mo o 5l S0Ss @ il bl (6l canlin saimsla) G 4 ojlgatex g0 5o sl 4

:(Fast Grammar

Ex. Tom is tall, but Jim is short.

Ex. We were late because it rained.

- but, nor, so, for, and, yet, or (luabes Lo, Bg,>)

- after, before, when, while, as, since, because, (even) if, unless, in case, whether ...

or, providing (that), although, (even) though, where, asiif, so that (so.3 slecsas k)

- who, what, which, that, if, where, when (.| slecaias k)

- who, whom, whose, which, that ( .acy sleosinsk))

EX. covreeeceecnnennens became a state in 1876. (i3S Jgo) MSRT cyg0)7)
(A) When Colorado (B) Colorado (C) It was Colorado (D) Colorado, which

FB 62 3 o Canl Jod became (Jlsw g0 3 3 0 jli Y28 S g Jebb G 4 doz o [dhoz 2l G
(Fast Grammar ¥ ,isu) ol oo B 4555 0015 jbs cowlio Jelb SO @y baiid

€3 Jo 35 bl 4 VAVE Jlo 3 951IS) sauz 5

Ex. When water freezes in the cracks of rocks, .............. expands, causing the rocks to break
apart. (b3S Jlgo) MSRT < ygaff)
(A)it (B) but (C) then (D) and

water (Jsl 5 lydhox )3 .oue>l90 0)lgdloz 95 b 45 0394 50 4 930 I O yge0 ) when g8 sk 03 L]
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:(Fast Grammar pgs w0 b i) d¢ oolaiwl but 51 cwslseven though L although jlas 6 lgales o (VF
Although he was tired, % he didn’t go to bed.

www.FastZaban.com

5 s LS € ,do» despite 5 «e e» in spite of « JJo» due to « JJa» because of lax (VY
:(Fast Grammar oS pgo (w0 b (id) dgd oolaiuwl (o,lgales) Jd

He went home h%as tired.
o S — He went home @ being tired.
yae f°‘“"

www.FastZaban.com

pyes (€)S y90) 6101 SRR Js“, Il il clss s ol Jbél | oy W] s)ljw 5 OA

advise, demand, insist, suggest, require, recommend, propose, urge, prefer, order

The doctor

that John remain inthe hospital.
Jxd solu IS5

demanded
Cawlgs o ol Jab

— ..demanded that John rem}ég

b i) 39 ooliiwl (3,0 aZh pgw (@)S () (Shol Jod bolw JSCB 5l (Jimaly w0 225 3)l90 jlome ©

:(Fast Grammar pgu )

It is essential/ vital/ necessary/ important that ...

It is necessary that you be here at 8:30. il el A el Lads a5 el o3y
Ex. It is vital that John .................. there on time. (ai3S Jlgo) EPT ygoj))
1) to be 2)is 3) been 4) be

] ¥ 4y 38 ranly oiS 03litnl J2 530 JSi 1 i be vital that j1 s
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09,5 35 b juz 99358 58 08 Sy b o 4 sl 0 o sl [as + w3 /cis v as] 8051 O

She is as fast as | am. D9 oo ool

51 ool agyl aid g ololids wesd oYU Coanl Glls a5 6lse 5 S0 b @ oses] ;O

il (6 0l slrcis LS Le loslaiul pgy) &lis v @S D925 izren e Jle clls 5l oolaiul
Ex. Heis faster than Ilam.

Ex. Tom is the tallest man in the room.
S cao

Ex. Kateis as fast as lam.

be (am/ is/ are, was/ were, being, been), get, look, seem, sound, feel, remain, make,
appear, taste

Ex. Tom is
by Jo3

carefully.

a8

Ex. Tom drives
sy Job

Ex. Some people believe that English is .................. to learn than French. (ai3S J)go) EPT cygaj])
1) as difficult 2) the less difficult 3) most difficult 4) less difficult

ol B 58 el 39 oolitl Luais o SO I (gl Wlgw © 900 o3 than sJS 5929 Jus
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Ex. London is known to be .................. place in Europe to buy a car. (alib3S o) EPT cugojf)
1) the more expensive 2) most expensive
3) the most expensive 4) more expensive

Gl ¥ 4y 55 ey 39 o5kt e io I gl 5w & y900 45 in EUrOPE 3JS 5929 Ju >

3gdig0 45Ld Lol )3 90355 3 )5 O 2 SOLS Olgicd O3 reute J
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:(Fast Grammar 4 ics) dmled d>gi ) OIS 4 caclas  Loasy sbocws dous b akal, jo (V-

Lo tislos ol 51 0 oo ol 0020lS Ly ouiul3s s olo (gl casliae Leass slacuis jLsls 5l O
4 Doz ol @l tle 0e8 oo soliil (o s sl pac b alosl cueal 5 oS 6l e

el oy S5
The more you study, the more you learn.

The more | worked with him, the more | liked him.

elin wis ol il it po S oo S 5l L iy 4z o

EX. ...cceeevennn.... We get to the airport, the more time we will have for shopping before take-off.

1) Earlier 2) The sooner (@3S Jlgo) EPT cygaj])

3) Prior 4) Whenever

WJlgw O g0 > the more 308 9 caclias UJ».»AJU sboso ‘591" L 4>95 L[caclao GL..AAJ sbcas > u)5]
Cawl P 4y 58 Gewly 398 o3liiwl SOONEN Judis JS g the Gy o5 O, )l (gl JB sl s

> eadlys lg s 3l Jud 3005 Sl sy Oloj cpum 2 88398 4 4359 4 i ez 5
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:(Fast Grammar sgs ()5 & i) Sl ploxl

Ex. There are the keys that | thought I lost.  .axiws Lxl slos,S o5 0,5 0 ;S8 a5 slaods

LS pga ()3 F i) 090 plol (KeS) Ja8 g Jelb olml> sl (hie slaai8) pjojlee slam ©

:(Fast Grammar

never, nowhere, rarely, seldom, hardly, barely, not until/ since, not (only) ... but
(also), only ..., nor, no sooner ..., on no account, under no circumstances, than/as

Ex. Never has Mr. Jones taken a vacation. ol 48 5 sS4 55,8 e SBI
Ex. Hardly ever .................. get a good job these days without possessing appropriate skills.
(A) people might (B) people can (S a8is)> UTEPT cygnfl)
(C) have people (D) do people

on 93 39 ploul (SeS) Job 9 Jebb olul> b oz slanl )3 hardly ever it b i sslizl Jus
9 ol 3k J> & g dlaz Oloj 3948 g0 8Ll S Cansily S 4 Syl 4 4295 b .3igib 0 3) B 9 A sladiy ;5
ool D 4y 58 nly 3948 03ises] O (SaS Jib I sl

@S b (295 I cuwlio SO )lgo rbls 09w 38l a5 )..‘J_Tuo o O350 gy opb s 5
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IKYVIRTA PP u}.l}.e‘.?m o> SO MQT &S ol ]y e S Emor:l;;sl gy QilgS ales G 0l o8, O
amsles s o Jlie oyl 4y
1) Margaret wrote the letter. g |y asb & 5L

2) The letter was written (by Margaret). A abgs Ol L Jawgs asl
90 Jle ;0 (Jg tea,lo podae Ao SO g sl (yilgs IS sasmoplxl Margaret ¢ Jol Jls )0

(oo OMos dod STyl azg  ©

slgs + to be J=d I JSD + (P.p.) J=d pous Caonndd

by &lsl B > 5l g o Causro C)T S0 O dfdjlfémoﬁbu| @ o0,Lil 6l Jopme o Lisle o O

1094 oo oolaiwl dlox slpul yo by Peter) ol o ona

Ex. Our house was designed by a famous architect.

Ex. We are really hopeful that the village .................. by the time the hurricane strikes.
1) will have been evacuated 2) will evacuate (@3S s)go) EPT cgof])
3) evacuates 4) was evacuating

LS Gl ) 4558 ruly . 35gidg0 3) 0 0392 poleo b K o 1 (1 sady S 9 euls b (Jseme J2b 43S
(Fast Grammar US| ¥ 5 )« slajisn) cudls ealss Jogzre JolS 32T Oloj Jod 5 0T bl
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((Fast Grammar A i) duled a>g8 55 OIS a4 (L) Slees corw b adaly o (VY

gl Cule; aliBw lacond (J)L) Sluedr gl lbowd o ©

LQLu.uTAJ J> LJJIJL.I JLbLl.u

A Oluod JlSle, B glwed jksle, and/ but/or C lued jLsle

S5 A ST ey 32l Olaed A (25 b Gilhe s el )5 JSb Bl I sl € 9 B 3 )lge wdlo ol o

228L Cdeo il 525 € 9 B bl o

A (L) ol g Cao 4w, Vivacious g pretty short ¢ 358 Jle jo

Ex. My brother is strong, brave, and, above al|, .................. . (@3S Jlgo) EPT cgoff)
1) is kind 2) heis kind 3) being kind 4) kind

Jsb . pre=lge sund JILL Sl S b 45 0298 g0 42950 lfan )90 45 AN 5 LLolS 1 23kl 43 85 oS b

ol el Sl (Kind) cio S 4 pa JB sl U5 (g 020 a3liwl brave g strong i 95 jl( JI sl il

Caml OU pgo 4od Jl 5VU 9 glonds (595 posl o reate 5

both ... and ..., either ... or ..., neither ... nor ..., not (only) ... but (also) ...
sl Camn ol elither . % e sl 45 0 o

Ex. The professor asked the students ...................... give a speech. (aid3S J)go) UTEPT cgaj])
(A) not only to write a report and (B) neither to write a report or
(C) either to write a report but (D) either to write a report or

aslixwl OF jl w4 either jl 52 Ol )3 S cuwlD &y 58 by tpaelge (Sowd 93 slaosias k) 5 )8 aSS L

(A Ghdry) 23l 5 IS5 )S0055 b s gk o sins by ol s € 9 B A sladiy 55 )5 oo

@S G pids b S 9 (B 1JS b &5 Gl 0L gomitils Sl sbiwb :euz 5
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money 4 crime .weather noise furniture dtraffic

139 oolaiwl mez Lol BB gl 5l ciasl ) Mol § bpuwcaaS 5l o

both, many, (a) few, various, several, numerous, abundant, among, these, those

Ex. He decided to leave school for various reasons.

S oolatwl o jae el 3l wsl 5 @another g each every jlas

(a) little information 19 oa oolawl Lo BB e oLl 51 L3 Lads much 4 (a) little

ol Slitie gany jl g cuie SHlax 4o L (something, somebody,...) o] liie 5 some |
109 oo oolaiwl ate 5 JI5w &Sle> o (anything, anybody,...)

Ex. | have some work to do.
Ex. There aren’t any trees in the garden.

O

EX. cccveuene ballet dancers learn five basic positions for the arms and feet. (aitis ))p) TOLIMO cy0)))
(A) All of (B) Of every (C) All (D) Every

o3kl 5 i0 5 )lods b6 aluol I 5 VEIY 100 )l5 Jo grisiiareS Sy 4 dANCETS o> b lod bl punl j1 i3

D% osliswl w34 All iwasS Ol )34 cuwl C 4y ;8 gl 35gd 00 3) D 9 B sladiy 35 (ol mli 3940 o0

35 o8 50 34 1) B 5 Lol ol > gy b Lol dos ez 5
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((Fast Grammar Y i) 3¢ oolaiul each L every .one «(my, your, his, her, its, our, their)

is very good. — mxo S <

Ex. The sonometer is instrument used to study the mathematical relations of harmonic tones.
A B C D (MSRT gyl

The book is very good.

My/ His/ ... book is very good.

Sy pie ;505 b iy 25 g5 jl (S0 1 OT jl 8 (sl 0150 9 Sl 5 o i jloss B el S instrument
Cal A 4y 55 ol . Cawl o @N instrument (5.8 oslizwl each L every b ool
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ool the iy a5 By 5l sl Jle sload g bbiws g 55 olacldapy 8 g laans 51 L3 ©

(Fast Grammar ¥ icu) S¢.8
inthe 1990s * the firstyear * the most difficult

Ex. Star clusters are relatively young stars which have been formed within last few billion
1 2 3 a4

years. (43S Jlga) EPT g
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{(Fast Grammar ¥ iz) 3¢ oolaiwl pul 3 gnls

my, your, his, her, its, our, their 5las e S slbcas

mine, yours, his, hers, its, ours, theirs 5o le S plos

This is theirs. 5 w=o s

Thisis their house.
This is theirs h\ou/se. - Ll
Ex. Many people are able to swim, hike, cycle, and canoe in spite of ............... disabilities.
1) they 2) them 3) their 4) theirs (@3S sgo) EPT cigofl)
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:(Fast Grammar V¥ izw) dwled d>gd ) OIS & 28 5 Jebb cillas oo b alal, o (YY

somebody/ someone 4 each-«(everybody, everything, ...) ;| wlitis 4 every 5l an ©

:(Fast Grammar ¥ _is) og.0 43Lal (B)S Jxd 4y ool Jl> (Lo 10 gom 004d oolainl o a0 8 5 sl

Ex. Every student has alaptop. — Every student h&e
S yie o Syhe Jad o g

1990 oolawl 000 Jed 51 Sianls
Ex. Learning English is easy.
sae ol Syho Jad
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1094 oolaiwl ez Jx8 5l sl € o . ee» both oand L. jlas ©

Ex. Both her mother and father were proud.
rox Jo2

) o 5 (a8L5] Gy 5l s psl) 43L51 G5 1> Jgnio e 5 Jelb Cisllas sy 50 45 03S Cds O

S Ceax 8lga ! 51 U Jeld 51 b Lo Jab g ol s (3Ll
Ex. The flowers inthe garden are  beautiful.
gox Jeb LAl B> Jomie  gex Jad

Ex. The main character in many of Agatha Christie’s mystery novels ............... the detective
Hercule Poirot. (b3S o) EPT g
1) have 2)is 3) are 4) has

> Jgmie i in many of ... novels Js .ol jbs 5 s Jod 4 JI> sl )5 9 cunl 3,40 Jebb character

Ex. Flower have long been cultivated and bred for their beauty and their fragrance.
A B C D  (MSRT gyl

flowers go> sl jl sl flower low (ol ul .ol 5 0 (flower) OT Jebb \ Jg ccul gox have SoS Jod

Cal A @ )8 ey 394 05 Listus]
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He knows thatthey will come.
oolw J oyl

He knows thatthey w%ld come. m=o J<u — He knew thatthey would come.
oolw J= yle; ool &535 e

wed Cule; il pa (byd sl sl s 38 LSS O

Ex. Jim....ccoeeeeeneeee. trying to pass his driving test, but he fails every time. (@3S J)go) EPTcagaj])
1) would keep 2) would have kept 3) was kept 4) keeps

g 00 3) dw 2 9 35y Cislhe

3900 35 )4 2 Lol 33 00 sl (Fail) 03051 5 o lp oW 4 sz 1z 45
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(Fast Grammar oUs 10 i) dpled a9 5 SIS 4 SlalS Gl o b alal, 5o (Y4
] ;"Mo)bl.? alo> Lgk\:.g‘ 9 alike
Ex. The tuition increase was opposed by students and teachers alike.
il G yob alos slol jo « WuSe o unlike 5 «aslor like &8Lsl g, 5 5 IS ©

Ex. Like my father, | am an architect.

others .ogd co ooliiwl goz ol 5l Other jlas 0gi o colisul 0,80 slaewl 51 L8 another 51 o

Ex. He has bought another motorbike.

Ex. Some (people) believe the story while others don’t.
($=5) Jo2
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Ex. We judge ourselves by what we feel capable of doing, while .................. judge us by what
we have already done. (1S o) EPT o))
1) the others 2) the other 3) others 4) other

90 0 )lgdho 4w b« yuy judge s feel judge ;e )ls Jod dw daxis] )3 [OLelS Gl g Lo lgdlox glgil Caseno]

[(Fast Grammar 10 90 sl jisn) 39 25 0 YIS0
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Jo oley 5o g o o plonil T S 42338 Loy 0 a5 (6,15 plol 4y @ole 4y 0 Ll (6l 05 6531 51 O

199 oo o0l gl cod ploul oo

Jebd + used to + J=b 3olw JSi

Ex. | used to work downtown. (35S o5 )15 50 55 50 50 ;503 ) po,S oo LS 50l 35 5o o LS

1094 o0 ool Jl> ley o IS S ploul 4 wole @ o,lil sl beusedto I o

Jlxsls Jeld + am/ is/ are + used to + J=b )lsing JSi

Ex. | am used to getting up early in the morning. 2ol Sole ad o 895 o A e
oolitwl cod g digligSl g cdw il ;o a5 (G 4 0,5 Wole anl,d w o lil gl getusedto 5l o

D9 0

Jebb + get used to + Jed ,lsing JS&

Ex. In some countries, people are used to ........... on the left side of the road. (ais i) EPT ¢y
1) being driven 2) be driven 3) driving 4) have been driving

(are sis @m ol oaay) Jl> Oloj U3 JIS S plouil 4 aisls Wole 4 o)Lal gl 4 Grbls woler be used to
Cl> 4 €S 2SS s Ll o VY 8 ol by e aslitwl jsuas el jl sl ol jl s g S o0 3 Lauwl

Sgbise 3 ) &S s being driven g o)l jLo Jaero
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o Jolegg b — if + Jobglk; + b sole S

25 ool Might L could would 1 sl eyl jo a5 asl Cblse

O pgd gy by o if + el fesls &35, (Would/ could/ might) + a8 ol S

o el don 5l am bE Jad ol el o Lcan will 51 ceols ol yo a8 ansl cbslge
S & wed oslsl were 1 sl g oolaiwl May

O pow gy by

g ooliul may b can Will 5l cls beul o a5 asl cblge

Ex. If it rains, the reception will take place indoors. (Jsl g5 b))
b a3 bl J315 55 slndy pelye ol o 5]
Ex. If / were a rich man, | would help the poor. (g5 g55 Lo ,2)
055 50 SaS )85 4y (p05: (5,5, pol ST
Ex. If you had taken a taxi, you would have got here in time. (pgw g9 (b))
1Sy o0 L] 4 @Bge s ig39 43S ST S

Ex.I............. you a present if | had known you graduated from college. (i3S J)go) EPT cygef)
1) had brought ~ 2) should be brought  3) brought 4) would have brought
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5,5 solatul sansl g S slagyle; 51 oylg5 oos Wish

Ex. | wish | had more spare time. Lol Jol wslo oo syt olyT 8y 035 oo o3,

1394 oo oolaiwl were 5l aiien b el olos (gl Wish l ae o uimen O

Ex. Helen wishes she were thinner.

Ex. I wish | ................. a report on my project to the class every week. (43S o) EPT cugojf)
1) didn’t have to give  2) should not be given  3) won’t give 4) must not be giving
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1. The right to education is to be seen as ................ right for the realization of
other economic, social and cultural rights.

A) an enabling B) to enable

C) enabling D) enabled

right 31 <y touus ooliciw! (right) ! oG 31 JB sl 3l o [edo cowl — A & 35 15wl
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2. It is important .............. the experience of education within the framework
of the international development agenda.

A) to be reviewed B) reviewing

C) to review D) review

g4 ool 10 b youao 31 (sl u.w 3 a2 [to b youae o, o] < C 40 35 Ewly

.(Fast Grammar oS \+Y dxino )+ gisy) Cowl C A0 55 Fwly .Culild pudlast umo pobio p2 A

o Jo S (] gl Cond Wz o (05945 § Sl (g5 9 b 3g0l S 5
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el 519595 2 2V

3. The inadequate access to higher level of learning .............. in a knowledge
divide that includes the “e-literacy” gap.

A) are resulted B) is resulting

C) have resulted D) result

(that) swcmolay o Jlgw @ ygo 5o [J2d g Jold cdisllae 5 abox cljo! ol — B &y 35 tduuwly
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4. Historians typically treat widely ................. materials as evidence of the
strategies.

A) distribution B) distribute

C) distributing D) distributed

odliiuw! o 31 S b (Materials) pwl g (Widely) wd s [ o oSl ol — D &y 35 :5ewly

o Jo o ol aline ob GiganSs ) Slwl (g5 g b jgel (WS
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5. Historians are confused .............. they are not quite sure if they are historians
or scientists.

A) because B) however

C) therefore D) moreover
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[(Fast Grammar ols 0 o F b yisu jo pios Oluded) ol
ouls o o (] aaliien o Wiz (o (G533 SLiwsl (2 9503 398l S 50
(PRRECIWIRTTN X CR ') JPUSICEIWE RN NVl DE S VS RRCE IV PR SRSV 2 TP IR PESR PESN)

bbb

6. Through energy-intensive chemical processes, humans have created

functional materials and brought them into wide ............... .
A) circulation B) circulatory
C) circulating D) circulated
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7. We are measuring the highest atmospheric .............. of the greenhouse gas
carbon dioxide.

A) concentrated B) concentrating

C) concentrations D) concentrate
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A) implementing B) implements
C) implemented D) implementation
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9. Scientific knowledge is a special form of knowledge, involving not just
theories .............. cultural practices.
A) yet B) but C) for D) and
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10. Scientific practice comprises forms of initiation, ................., exploration,
discourse, and transmission.

A) education B) educated

C) educates D) educational

¢ discourse .exploration .nitiation ..l Kuodr LCwwd dod gl (obb,lsle
LI A &5 55 Gl o010 55 el S a3 (IS gl 30 ol b coiciumd Kiuned g ! transmission

o Jo S (] gl Cond Wiz o (005945 § Sl (2 g5 9 390l S 5
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11. The policy cycle links a variety of key players in the policy process through
their .............. with the different stages.

A) involve B) involved

C) involving D) involvement
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12. .............. had | left the building when they called me on my mobile.
A) Not only B) Hardly
C) Unlikely D) Just
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13. Whenever | visited my supervisor, he ................ practical suggestion to
continue my project.

A) would make B) have made

C) use to made D) would have made
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14. When | asked Ali .............. my books, he had no idea where they were.
A) could he see B) that he had seen
C) if he had seen D) if did he seen

PR o 105 0 Jgxie 90 45 Cawl Jlxdl g3 @Sk Jxd [Wee ylgales &1gil cummmol = C ddy 35 :femly
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15. The students liked that professor’s course because ................ .
A) there was a few if any homework

B) not a lot of homework

C) of there wasn’t a great amount of homework

D) there was little or no homework
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16. My friend is lucky ............... to the conference as he has not published his
first paper.

A) to be invited B) having been invited

C) to have been invited D) having invited
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17. | have been contemplating .............. or not to take summer classes.
A) whether B) however
C) would rather D) neither
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18. Prices are too high these days and they will remain ............. until inflation
comes down.
A) soon B) so C) that D) there
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19. They could not develop their project as expected; .............. , they are happy
with the final results.

A) therefore B) furthermore

C) moreover D) nonetheless
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20. In cultural ................. , human societies have entered the relation of
production dependent on their material culture.
A) evolve B) evolving C) evolved D) evolution
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21. The professor said that it takes years to .............. as a teacher.
A) complete B) practice C) accept D) qualify
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22. Since no party had a clear majority in the election, the opposition leader
.............. to withdraw the election.

A) accepted B) assisted C) attracted D) assessed
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23. Although the subject was complicated, the professor managed to make it

all totally clear and .............. by her delivery.
A) simple B) secure C) saintly D) satisfied
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24. | am completely confused as to why she did it and so it is not .............. to
imagine why other people are mystified too.

A) difficult B) debatable C) decided D) definite
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25. The regulation has nothing to do with you and does not .............. to your
situation.
A) attract B) adhere C) apply D) attach
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26. There has been substantial discussion in the historiography of science and
technology about what an invention is.

A) conclusive B) conscious

C) considerable D) controversial
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27. Historians of science can provide substantively grounded insights into the
relation between the public and professionals.

A) feverishly B) furiously

C) fundamentally D) functionally
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28. Reclaiming the interaction between science and history of science yields
interesting perspectives.
A) probes B) produces C) protects D) profits
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29. The unintended consequences of human activity have been accumulated.
A) amended B) annexed C) abused D) amassed
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30. Abstractions tend to be opaque with regard to the historically specific
experiences from which they emerge.

A) difficult to understand B) clear to know

C) transparent D) transcend
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31. A future web of knowledge would help to balance asymmetries in the
ownership and control of knowledge.

A) inequalities B) peculiarities

C) irrelevances D) irregularities
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32. The importance of Muslim contributions to science, technology,
philosophy and the arts cannot be overstated.

A) is very important B) can be ignored

C) should be neglected D) must be restarted
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33. It is important to maintain our position as the preeminent nation of science
and technology.

A) disturbed B) distributed
C) distorted D) distinguished
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34. This paper is lighted in a way to accentuate the motley color distribution.
A) marvelous B) messy C) modified D) mixed
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35. The professor agreed in general with what the researcher said but he
challenged with one point and would take the issue later.

A) defied B) degraded C) denounced D) disordered
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36. The results suggest that providing day care may be insufficient as a strategy
to reduce poverty.
A) inadvisable B) inadequate
C) inappropriate D) incongruous
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37. The availability of default setting and the flexibility in replacing them is an
important feature.

A) accountability B) actuality
C) accessibility D) admissibility
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38. If he does not improve his timekeeping, then he will ultimately be
dismissed.

A) misled B) discounted C) ignored D) fired
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39. The timeline of human history has become intrinsically meshed with the
geologic timeline.

A) inevitably B) innovatively
C) inherently D) inquisitively
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40. Such absolute power can easily corrupt, and it is no wonder that the feudal
system is humanly degrading.
A) harming B) humiliating
C) hurting D) harassing
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Reading 1:

The human body can tolerate only a small range of temperature, especially
when the person is engaged in vigorous activity. Heat reactions usually occur
when large amounts of water and salt are lost through excessive sweating
following strenuous exercise. When the body becomes overheated, heat
exhaustion can lead to heatstroke, a life threatening condition. Fortunately, heat
exhaustion is preventable.

Heat exhaustion is generally characterized by clammy skin, fatigue, nausea,
dizziness, profuse perspiration, and sometimes fainting, resulting from an
inadequate intake of water and the loss of fluids. First-aid treatment for this
condition includes having the victim lie down, raising the feet 8 to 12 inches,
applying cool, wet cloths to the skin, and giving the victim sips of salt water.

Heat stroke is much more serious; it is an immediate life-threatening
situation. The characteristics of heat stroke are a high body temperature (which
may reach 106°F or more); a rapid pulse; hot, dry skin, and a blocked sweating
mechanism. Victims of this condition may be unconscious, and first-aid
measures should be directed at quickly cooling the body. The victim should be
placed in a tub of cold water or repeatedly sponged with cool water until his or
her temperature is sufficiently lowered. Fans or air conditioners will also help
with the cooling process. Care should be taken; however, not to over-chill the
victim once the temperature is below 102°F.

1. The most immediate concern of a person tending to a victim of heat stroke
should be to .......ccccoccevviniiecninnnne. .

A) get salt into the victim’s body

B) raise the victim’s feet

C) apply hot cloths to the skin

D) lower the victim’s temperature

2. Which of the following is a symptom of heat exhaustion?
A) profuse sweating

B) unconsciousness

C) hot, dry skin

D) a weak pulse

3. Which of the following statements can be inferred from the above passage?
A) It is possible to avoid heat exhaustion.

B) There is no treatment for the life-threatening situation.

C) Heat exhaustion usually occurs as a result of excess intake of water and fluids.
D) Being a vigorously active person decreases the risk of heat stroke.
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4. Symptoms such as nausea and dizziness in heat exhaustion victims indicate
that the person most likely needs to .........cccccccceeeneenee .

A) be immediately taken to a hospital

B) be given more salt water

C) be immersed in a tub of water

D) sweat more

5. The word “this” in line 9 refers to ........ccccccevevveeneenes .
A) clammy skin

B) fatigue

C) dizziness

D) heat exhaustion
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Reading 2:

A recent investigation by scientists at the U.S. Geological Survey shows that
strange animal behavior might help predict future earthquakes. Investigators
found such occurrences in a ten-kilometer radius of the epicenter of a fairly
recent quake. Some birds screeched and flew about wildly; dogs yelped and ran
around uncontrollably. Scientists believe the animals can perceive these
environmental changes as early as several days before the mishap. In 1976 after
observing animal behavior, the Chinese were able to predict a devastating
guake. Although hundreds of thousands of people were killed, the government
was able to evacuate millions of other people and thus keep the death toll at a
lower level.

6. What prediction may be made by observing animal behavior?
A) the ten-kilometer radius of the epicenter

B) an impending earthquake

C) the number of people who will die

D) environmental changes

7. The word “evacuate” most nearly means .........cccccoeeecernnnee. .
A) remove B) destroy
C) exile D) emaciate

8. If scientists can accurately predict earthquakes, there will be ...................... .
A) fewer animals going crazy

B) a lower death rate

C) fewer people evacuated

D) fewer environmental changes

9. Why can animals perceive these changes when humans cannot?
A) Animals have certain instincts that humans don’t possess.

B) Animals are smarter than humans.

C) By running around the house, they can feel the vibrations.

D) Humans don’t know where to look.

10. Which of the following is not true?

A) Some animals may be able to sense an approaching earthquake.

B) By observing animal behavior scientists perhaps can predict earthquakes.

C) The Chinese have successfully predicted an earthquake and saved many lives.
D) All birds and dogs in a ten-kilometer radius of the epicenter went wild before
the quake.
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Cloze Passage:

Desert is a special region where only certain kinds of plants and animals can
survive. All deserts have very little ...(1)... . This means that only animals and
plants that can ...(2)... without water for long ...(3)... of time can exist in the
desert.

Plants in the deserts are ...(4)... adapted to the dry and hot
environment. One ...(5)... desert plant is the cactus. Like many desert plants, this
plant has very ...(6)... . As plants lose most of their water ...(7)... their leaves, the
small leaves of the cactus help to ...(8)... water evaporation. There are other
desert plants that do not have leaves ...(9)... .

Some desert plants survive ...(10)... avoiding the dry season
altogether. ...(11)... the dry season, this plant remains as a seed and does not
...(12)... from the soil at all. When the rains come, this seed would grow very
quickly into ...(13)... . It would bloom rapidly ...(14)... scatter its seeds before the
dry season ...(15)... .

1. A) soil B) water C) heat D) sunshine
2. A) maintain B) support C) live D) lose
3. A) periods B) limits C) moments D) delays
4. A) particularly B) seldom C) orderly D) in part
5. A) honorable B) well-known C) great D) favorite
6. A) little water B) short life C) strong body D) tiny leaves
7. A) inside B) to C) through D) for
8. A) cut down B) relate to

C) be based on D) beg for
9. A) no matter when B) at all

C) any time D) if possible
10. A)in B) since C) as D) by
11. A) during B) meanwhile C) for D) despite
12. A) develop B) disappear C) emerge D) show
13. A) seeds B) trees C) roots D) plants
14. A)inorderto  B) after that C) immediately D) and then

15. A) could return
C) is returned

B) returning
D) returns
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